1. 1f you have 7030. kg, how many Gg do you have? % ' !
our et S\est 30 Yoo 2 bounce ‘
deci™)” S plices oY LEET
2. Ifyou have 0.005011. kiloliters, how many microliters do you have?
bounce He decine) nine plaes
Yo 3 oL

3. We describe three storage “accounts™ to understand the changes we see in chemistry. [State
their names and describe how energy is stored in these three storage modes

T‘\F‘e;r__, —is Vibps '\ﬂw( = Clemical - oo and fue hawt
hasé - §as > W§sd > Sl oRrR ener
Phasegleny - §4s > 140> TR o e
4. A tray of water (20 °C) is placed in the freezer and turns into ice cubes (- 8 °C)
Initial Energy Flow Fnd"“ = $
Ea Ew Ea ,
- - —
Iﬁillal . EmrgyF'w Final

List one or more mistakes in the solution shown above UG )
T he LiGuib TRRNING
EP" Skoulo\ be C"Nﬂ‘j al OT’(g/c To Sotid

5. These numbers will NOT be given to you on your final exam. You will only be given 4
periodic table. Instructions: Write down some of these and any numbers like these pnto
your ‘cheat sheet’ now

You will always be given these numbers on tests and quizzes.

7. How many torr are in 1.19 atm?

NS wer QOL( forr SL
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R, : T
: onelynum. ed by = e
8 Aquanmyofgasexcns!; of986kPaataatzu:mpentumof2_0°C. Ifthcvolnmeremams

unchanged, what at-8.0°C?
MUST CCMMGt!?m ansiuer 5. €k

Tempe L%&/f, SE (show Mw/)

FIRST

9. Ifa beachcomber finds a copper coin that contains 8 x 10%1 atoms of copper, what is the volume of the coin?
Assume that 255 atoms of copper have a mass of 2.69 x 10-2 grams. Also assume that the density of copper is
8.98 grams per ml..

Answz s 0 0q mb
S\l\ow bdo'.‘k/

mass vs volume
100 -

mass ()
3

° GI\S

i !
J . ! L

o ) s 10 Lb~

10. Based on this graph, how does metal B differ from metal A" chJ\S
&0 - ?

‘_’ﬁT = 8 Cw3 ;o B \4\@)

[ocm o\eA9.
@Based on this graph,What is the density of metal B? Show all your work and include
appropriate units.
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12.Based on this gaph,Whggt is the mass of 9.0 cm?® of metal B?
Oem®y E{ 2 - =7 .0s
w
13. A student filled a graduated cylinder with Water and read the meniscus at 25.8 mL. The student
then dropped a solid material into the graduated cylinder and the water level rose to 35.9 mL. If
the solid material had a density of 2.99 o/mL, determine the mass of the solid object. IV\ \-D
=\5 L

quq».‘- ~95.9mL = [0, 1mtL :D;C% rea frage Mféo'“d- 24
m = 50718

Substance Density 14. You made some cubes out of-eath meta in
_— _ (g “2“_;) the table that each measules 2.00cmon
inum 70 =
Titanium 454 every side. :
%l:: ;g 2. What is the volume of each cube i cm’? in W
fea 787 mL? \elove is leagia = woddb = he T
Nickel 8.90 4
Copper 8.96 V= QCQ:m’ \Y =8 @ mL
Silver 10.50 .
Lead 11.35
Mercury 13.55
Gold 19.30
_ b. Find the mass of these metal cubes: (Show your work belo’\7v) o FL . ( é é O 9 S?L
lead cube T 201 5
g;l * | CMG b

nickel cube \
zinc cube

8(-«3 NY A 9 N

l C"“" N;

Qerd 7o (é.g%z“) _ 5229 Y

cnt

o, spe ¥

15. Round each to two significant figures

e 5509 is
. 951236 is. 150000
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16. How many significant figures are in each measurement below?
e 75000 miles ___1 IO

* 9030g Loor

e 800.9520 sevNen
e 0.0005000050 nm _ D ENEA

17. Convert the following into scientifi c notation:

A. 745 7 qg X lO
B. 0.00852 8~g2 %

Convert the followmg to “normal™ numbers (with no exponents anywhere)

C. 72x10? O O"7Z

Mark (H) or (T) for each item below indicate whether it applies to HEAT or TEMPERATURE
18. E is measured with a cup of water called a Calorimeter

19._ T s just a measure of the average speed of the particle vibrations
20. H one common unit for measuring this is joules

21. A cube of aluminum with a density of 2.70 g/mL has a volume of 52.8 mL, what its mass? (Hint, find the
numbers in a relationship, find the lonely numper, find the unit for the answer. Set up words before

numbers.)

52 8“’“—)( 7?’(0 b (L‘%“‘“’

22. Is this a substance?
(yes 2 as &?

HEPob(S ?‘30%0:‘? X
Wichore of Fre Stbstuses . Sobstae -
Substane 2 - 73

2
]
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23. Using the picture on the right,

determine "S'-'éﬁ‘

the pressure of the gas if the

atmospheric ;

pressure is 735 mm Hg. {

795:0-Pr X |
057X s fo5wrll] 3

24. If the CHs gas became colder the i
height of liquid would
a. still be 30.0 mm =
@reater than 30.0 mm
c. less than 30.0 mm
25. If the atmospheric pressure became
less (due to bad weather) the
height of liquid would
b 7S  d. still be 30.0 mm
NSw s an 30.0 mm
— be less than 30.0 mm
26. How many torr is the ambient (use & L B 23)
pressure in this story problem?

rite your best estimate of the Jength of this object usz
The left ruler: ke  tacles (Tec s foy’

e The right ruler: L= YT iady (-H\ree S“ﬁ'gﬁ’)

Inches

©Modeling Instruction —~ AMTA 2013 5 4 U3 -ws 1v2.1




The most useful single item to review is the stapled together sheet th;;t looks like this
(available at the class we?s_itg):

: Chemistiy Semester One Review- 2014-15

l 1) Be familiar with properties of matter we have studied. Be familiar with

l thelr definitions 2nd how they are used. Which ones are always the
same for a substance? (See list below.)

l 2 What units can be used to measure the following quasntities?

l-_— i) Volume vi) Heat x) Boiling point

107-¢47 § Aq

4\
fepmn periodec Hable

2. How rgnzgy moles are in a 12.0 'z sample of FeO? ( 0 F 0 o iy

[ % fe = S5. JUgrarsie =
e 2Ogle L) 016Fw
?| .3?3’“ mo,e u j

— Tois otk 1175 Tt npmbar 10 0 wishien VP

3. What is the mass of 0.015 moles of Ca(OH)2?

- “(04(’2 3M¢
H(;j— 2 029 /mob 0,0is’mofes(b”)Z 1O g1ey). ( | 3=
Zel L slagt T el =

T 10 sl

4. What is the percent by méas: of Ca in calcium chloride, CaCly?
H0_09D apers .

=3 00 = 26 1%

‘ ‘ O > qg 5 ro“"f =

5. If you have 505 pL, how many L do you have?
hovie & places le £t

0.000 505 L

6. If you have 0.34 pm, how many picometers do you have?
bounce places mk}

gl{O OOO, \>CCo~¢k!’f o




: - and in the trunk find
'::r?ppl:iw;tubmtha, éq@ﬁwﬁo

- Given info: You buy a used Find the empirical f(Amula

1% aubsﬁance When analyzed
e th93693gofoxygenand y
0.43 gof hydrogen. If the 0 gﬂ s H
‘molar 1 mass of the =
epmppund is 34.0 gl_mole,‘ :

Find whatl tl;e“m;s;s w;uld be for a ‘m-ole of this Now randomly choose a few integers and
empirical formula. multiply your empirical mass by them. Yon Gle
24 e,
O wald Vo oy i % 0o M gus
‘HM 3¢ e = s
oleculer 55 0 Fimes theee g0 51 05 MJ‘ ’3'3 i
(6 U) Write the molecular formula here |
l,g‘LOO Xwes 17:0Y .
= ol So ‘“I 'go(ww\"‘ Foo S
[T |,0(_—_/'/—ﬁ- a0 iwes OB
7 0l Yl :
\ Aset Molecu b %rmﬁa - O,

8. Is your cheat sheet up to date? You can bring an 8.5” x 117 sheet, handwritten,
not photocopied, not computer-printed. Include formulas, a metric conversion
table, 6.02x10%...

9. How many torr aCiLq i“%”':\;/kﬁ;? ’-}QO "'o( r O 380 dsrr
- Klay

Substance Density 10. What would be the mass of a 44.8
(g/mL) mL piece of tin?
Aluminum 2.70
Titanium 4.54
Zinc 7.13
Tin 7.31
Iron 7.87 Yy 8L « %l 3“"‘5 ? y
Nickel 8.90 3
Copper 8.96
Silver 10.50 ,
Lead 11.35
Mercury 13.55
Gold 19.30
you don’t need to put numbers like this on your cheat
sheet




oClows ’Flo«%&)a‘a\ﬁ\'\ \OUU 'le\
N = Moy wyest of\gwo&\s\,

11. If 13.6. gram@v:edmpped into 28.5 grams of water calculate the following

% a) Find ATfor’t_lzewa}_te)'. ° S 2
REE AV= gl “Tadad = %5‘{’ [be=11e

b) How many joules of heat entered the
water?

Q: m C A‘Y
0 (Bsf i)
Q- g 2265.6 X QNP Jw*s

¢) Find AT for the'metal

VY
AT: 'Bgi_‘]l"c = “5?2




